
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

−2 × 10 =(−4) 279.5 × 10 =(−1)

10 =(−3) 10 =(−2)

368 ÷ 10 =2 10 =(−1)

−2 × 10 =(−2) 10 =(−4)

6 × 10 = 10 =(−2)

10 =(−4) 500.2 × 10 =(−3)

6 × 10 =(−4) 10 =(−3)

606.4 ÷ 10 =(−1) 3 × 10 =(−1)

10 =(−4) 5 × 10 =

7 × 10 =2 7 × 10 =
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

−2 × 10 = −0.0002(−4) 279.5 × 10 = 27.95(−1)

10 = 0.001(−3) 10 = 0.01(−2)

368 ÷ 10 = 3.682 10 = 0.1(−1)

−2 × 10 = −0.02(−2) 10 = 0.0001(−4)

6 × 10 = 60 10 = 0.01(−2)

10 = 0.0001(−4) 500.2 × 10 = 0.5002(−3)

6 × 10 = 0.0006(−4) 10 = 0.001(−3)

606.4 ÷ 10 = 6064(−1) 3 × 10 = 0.3(−1)

10 = 0.0001(−4) 5 × 10 = 50

7 × 10 = 7002 7 × 10 = 70
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